AMM(FD2) VRZVY-FX+ BEBRLET[MB>T, 350517
KAPNTNET, WIEINDHEEEZBNT, 49~58, 59~63, 64~68 DZh
TRZDONTRBEY AL DEA~DOHH S —DBY, AREHEOZD 2 (U
ARZVD)ITRALRZRI N, MEMTICATERSEINTL LS,

TYPEA (49~58) ZNZNOIEBOERBITH LT VNEEZRR TN 0%,
AW~DOHNE—=DENRI N, MBI ELIEAZEA. 1 BEOREKRE
3R 15T,

Example A (A) Let’s look at the homework again.
(B) Let’s make the homework again.
(C) Let’s take out the homework.

(D) Let’s begin the homework.

49. (A) Oh, the outfit is a good suit.
(B) The clothés look very nice on you.
(C) The dress looks like a suit.
(D) The outfit is very manly.

50. (A) Can I tell you my opinion?
(B) Are you worried about sitting here?
(©) Can I sit here?

(D) Does your mind hate sitting here?

51. (A) The tea is too cold, so I want to heat it up.
(B The tea has a cool flavor, so I will wait.
(©) 1 will hold on until the tea turns a cool color.

(D) The tea is too hot, so I will drink it a little later.
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52.

53.

54.

55.

56.

S 8 & =

Her cupcake shop moved to another place because of the TV

commercial.

Her cupcake shop became really successful due to the TV

commercial.
Her cupcake shop offered a big discount due to the TV

commercial.

Her cupcakes flew around the shop after the TV commercial.

Don’t pass on such a wonderful chance!
You will miss him if you don’t go to the meeting!
You won’t miss the time to do it.

You should miss this event as it is too great for you.

Would you like to go into a fitting room to wear that?
Would you like to taste that dish?
Would you like to put on that CD?

Do you want to try doing that actively?

The exam was very tough.
The test was a good experience.
The test changed a lot.

The instructions were not clear.

She took her father to go and see him.
She forgot to take her father a gift.
She thought by mistake that the man was her father.

She made a mistake for her father.
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58.

TYPE B

What matters to me is you.
What is wrong with you now?
What time is it?

Does it matter what I have?

I am not going out for dinner.
It is the right mood for dinner tonight.
I do not feel like eating dinner with you tonight.

We can go out for dinner tonight.

(659~63) TIZ, EXZHNWT, HRINZEBEICH T 2 8B RE
A%, A~DOHMNS—DFWRI N, EXEM0BOEREENTEDE
LEJ, INKOK1OMICEIENS 63BETORMEZZAIZI N,

59. Which of the following is mentioned?

60.

Vegetarians do not have milk, honey, and eggs.
Vegetarians eat fish but do not eat meat.
Vegetarians eat dairy products, honey, and eggs.

Vegetarians do not wear leather.

Does being vegetarian mean you are always healthy?

Yes, you eat more vegetables.
Yes, you will lose weight.
No, you don’t eat enough protein.

Maybe. It depends on the type of food you choose to eat.
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- 61. What do many vegetarians believe?

(A) Killing animals is not a nice thing to do because the animals

suffer.
(B Killing animals is easier than growing plants.
(C) Killing animals is dangerous for humans.
(D Killing animals is a bad thing to do because the animals make a

mess.

62. Which reason to become a vegetarian is NOT mentioned?
(A) You can be healthier.
(Bl You don’t want to kill animals.
(© You can help save the environment.

(D You can understand how we rely on farms.

63. Why is raising animals for food a waste of resources?
(A) Because animals take uvp less space than plants.
(Bl Because the grain used to raise animals could be used to feed
more people.
(C) Because it takes a lot of heat to keep animals warm in winter.

(D) Because animals don’t exercise enough.

TYPE C (64~68) Tid, RFEZHWT, HRSNAZHBICHT 2R BYHE
A%, A~DOHN5—DBURI V., REFEZM0DOMEEBNTEDE
LET, INK0VK 1 OMIC64FENS 68 BE TORMEZFLARI N,

64. At the beginning, why was the man surprised?
(A} Because he didn’t know Tesla was not famous.
(B Because he didn’t know Tesla was not American.
(©) Because he didn’t know Tesla was such a great inventor.
(D -Because he didn’t know Tesla was not rich.
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65.

66.

67.

68.

What were some of Tesla’s inventions and discoveries the woman
mentioned?

(A) The light bulb and the phonograph.

(B The radio and the x-ray.

(©) The motorcycle and the x-ray.

(D) The camera and the television.

What can we assume about the relationship between Edison and
Tesla?

(A) They were neighbors.

(B) They were good friends.

(C) They were strangers.

(D) They were rivals.

What can we assume was the reason for Tesla’s lack of fame?
(A) He was not as successful in business as Edison.

(B) His dirty tricks spoiled his fame.

(C) He was not really a great inventor.

(D) His type of electricity was not as impressive as Edison’s.

What are the woman and the man mainly talking about?
(A) American history.
(B Two inventors.
(C) The dangers of electricity.
(D) The irony of Marconi and Roentgen.
®F & B
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